Pour chaque opération, trouve le résultat et la multiplication équivalente.

workeheed) From Addition To Multiplication
Werkgeomr Date.

[@3 For each of the problems below, sum up the values, then express the operation
as a multiplication sentence.

(1) A+4+4+4+4+4+4+4+4+4 (2) T+T+7+7+T7+T7+7+7+7=

+4= 44
[ x % = 4k X =
(3) 5+5+5+5+5+5+5+5+5= (4) 6+6+6+6+6=
—_ X =
X =
(5) 4+4-= (6) 11+11+11+11+11+11=
X = -
X =
(7) 7T+7+7+7+7+7+7+7+7= (8) 12+12+12+12+12+12+12+
12+12+12+12=
X = X =
(9) 12+12+12+12+12= (100 6+6=
X = X =
(11) 9+9+9+9+9+9+9+9= 12 2+2-=
—_ X =
X =
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Machine à écrire
Pour chaque opération, trouve le résultat et la multiplication équivalente.
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[@3 For each of the problems below, sum up the values, then express the operation
as a multiplication sentence.

(1) A+4+4+4+4+4+4+4+4+4 (2) T+T+7+7+T7+T7+7+7+7=

+4= 44 63
[l x 4 = 44 9 x 7 = 63

(3) 5+5+5+5+5+5+5+5+5= (4) 6+6+6+6+6= 30
45 5 x 6 = 30
9 x 5 = {5

(5) 4+4= 8 (6) 11+11+11+11+11+11=
2 x 4 = 8 _66

6 x [l = 66

(7) 7+7+7+7+7+7+7+7+7= (8) 12+12+12+12+12+12+ 12+
63 12+12+12+12= [32
9 x 7T = 63 [l x [2 = [32
(9) 12+12+12+12+12= 60 (100 6+6= (2
5 x [2 = 60 2 x 6 = |2
(11) 94+9+9+9+9+9+9+9= (12) 2+2= 4
l ya X 2 = 4

8 x 9 = 172
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